FEATURES 458

* Pipe thread in accordance with ANSI B2.1, BS 21:1973,
» DIN 259/2999, ISO 228

» Pressure rating: 1000 PSI

» Investment casting body and cap

» Blow-out proof stem

» IS0 5211 mounting pad

» Screwed end/Butt weld end/Socket weld end

» Lug body

OPTION % 18
. B » Locking device
v A ER 1 Bk F » Anti-static device
= EXPLOSION DRAWING MM
Nut
M ¥ Stem Nut
—~ s T
Stem Packing

(|
= MATERIAL LIST# 8 %
MATERIALS
ITEM wit PART =
304 | 304L | 316 316L JI wcB
1 A MEE MNut Al93 B8/Customize Al93 B7
2 b e Bolt A193 B8/Customize Al193 B7
3 W ER Gland AISI-CF8 | A351-CF3 | A351.CF8M | A3SL.CFIM | A216-WCB
4 hili sk R Gasket PTFE Or Optional (See Paged)
6 WE F"ack'ing PTFE Or Graphite
5 T 1 CAP AIS1-CF8 | A351-CF3 | A351-CF8M | A3S1-CF3M | A216-WCB
7 B Seat PTFE Or Optional (See Paged)
8 Hm Ball A182F304 | A182F304L | A182F316 | AL82F316L | A276-420
L] JFiR Thrust Packing PTFE Or Optional (See Paged)
10 0B ORing Viton / NBR
11 TS Stem A182F304 | AL82F304L | A182F316 | A182F316L | A276-420
12 T ] Body A3S1-CF8 AS1-CF3 | A351-CF8M | A3SL.CF3M | A216-WCB
= DIMENSION R < %
size D | L L1 | s T WT (kg)
1/4" 10 5 64 i 100 [ mi10%15 M50.8 0.365
/8" 10 64 | 100 M10°1.5 M5*0.8 0.365
12" 15 [ 64 | 104 M10°1.5 M5*0.8 0.44
34" 20 70 [ 18 | w015 M5*0.8 0.57
ar 25 83 | 115 [ miz:17s Ms*0.8 0.76
1-1/4" 32 % [ 128 M12°1.75 M5*0.8 0.11
1-1/2° 38 109 | 155 M14°2.0 M6°1.0 1.8
7 50 [ 121 ! 165 M14*2.0 M6°1.0 2.8
21/2* 65 169 | 205 M16*2.5 M8*1.0 6.15
3" 80 190 215 M16*2.5 M8*1.0 9.28
4" 100 239 278 M20%3.0 M10*1.5 16.9

16



